Solutions to MATH 980 Sameple Problems

2
® To Simplif)r %('}" ""!"> note +hat ‘!{ -4, so

L(3-0)-36-D-30)%

® To arap\-\ "fx-Za, +12=0, ¥$irst we can solve
for y: Yx+12=2y and y= L= 2246,

This is an equation of o line with slope 2

Oﬂd [/ %‘iﬂfe"cep"' og' 60 U/ ‘fx-Za,*ﬂ.:O
6

X

® To solve for x in Yxy+2:=3w, fest
subtract €, then divide by 93. ”

_ dw-—-2
X = q‘*
o TO SO‘VC -4 < -3x+| £7 , Lirst subtract |
-15<-3x < 6.

Second., divide by -3, remem\oer;ns that
d’wicl'ms b}l a nega-ﬂve number 7#“95“ the 'mezua'o' "’)’:

-2<x<5.



Solutions To MATH 1010 Sawmple Problems

@® To solve 5x%-2(z-1)= 4x*+6x-13 for x°
6x2-2x+2 =4x*+6x -3,

Distributive law:

Subtract 4x2+6x-13: x*-8x+15 =0.

Quadratic Formula:

_gx+g2-4(15) _ 84 _ .,
x= 2 == =TTl

x=5 or %

So: =3,

O To solve 2(’“7) = 8 ‘po'r X, note +hot

xX+7 = IO%Z (2(1*7)) = ]032(8>: 1032(23) =3
Subtract 7, to $ind thet x=3-7=-4%,

® For the system of equations —3x +y = - |
and X Y4 =7, we can solve +he second

equation for 2% z27- y. Next, substitute

‘ﬂ’fls value Qor X into the Q'ﬂ"S“‘ eiuc‘l’iOV\ .

‘3(7-3) "‘3. =-1, which Sikac-ies to
-2 +"fa, =-], Hence, "l'v, =20, so Y= 5.
Since, x= 7—3, , we have that x=2.
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@® To solve for x in £(3x-7)=2, apply the
inverse c'uncﬁon ‘o See ‘ﬂ\of 31"'7 - g-'(ZB.
Since we were told that $7'(2)= 1, we have

31_7:”, So Sx = ,8, and x = 6.

. —5 So've Qot' X In 1033(1)*|033(1"2> '-'-"',
tecall +hot

Ioss(JC)-l- 1033(1-2> = ioss(x(x-z)) = 1033 (12-2x>
So |033(12' 21) =] , and -st, x*-2x = 3"’-" s.
Hence, xt-2x-3=0. By +he 2uo¢lraﬂc gofmula,

xX=3 or x=-|,

Noﬁce +that x=-] can not be a solution
To our ov'°\3'\na| ezua-l'ion, since & x=-|,
+hen |o%3(x-2) = ,033( -3) anA we can nevey

-I-qlce o |03ari+‘1m D?’ o ne.%oc\"we number,

Therefore, x=3 is the only solution.
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& To r-incl the voots of 13-212- 3x +6,
we know Qrom +the hint +thet 2 is a
root, so x-2 divides x>-2x2%-3x+{.

Dls;\ns |o\n3 diwvision,

x¢-3

That is, (x-2)(x%-3)=x3-2x%-3x +§.

The voot of (x-2) is 2.

The vroots of x%-3 are 3 and -V3,
Therefore, the roots of x°-2x%-3x+6
ace 2, ¥3, and -7/3.
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o Tomsen'l' 1S opposite divided b« anacen'l', So

15

tells us tFan)= "!8‘5‘ )

Sine 1S OPPosiTe divided by hypofe\nuse,, <o

S

A L




